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1 
  137  Chomutov - Vejprty a zpět 
   16880 

 1 
  5298 

  
  km Vlak SŽDC, státní organizace /  Vlak

ČD, a.s. 
km    5299

 
  16883

 1
  

   8 03   16 20   0 Chomutov 124,130,133,140  58    11 41   19 51   
   8 11   16 27   4 Černovice u Chomutova  54    11 34   19 44   
   8 24   16 39   14 Domina  44    11 21   19 30   
   8 30   16 44   19 Křimov-Suchdol  39    11 15   19 24   
   8 35   16 47   22 Křimov zastávka  36    11 12   19 21   
   8 40   16 52   23 Křimov  35    11 09   19 18   
   8 42   16 54   24 Nová Ves u Křimova  34    11 06   19 15   
   8 47   16 58   28 Výsluní  30    11 02   19 10   
   8 54   17 06   34 Rusová  24    10 55   19 02   
   9 00   17 12   39 Měděnec  19    10 48   18 55   
   9 04   17 15   41 Měděnec zastávka  17    10 45   18 52   
   9 09   17 21   45 Kovářská městys  13    10 40   18 46   
   9 16   17 28   49 Kovářská  9    10 35   18 41   
   9 18   17 30   51 České Hamry  7    10 31   18 37   
   9 23   17 35   54 Vejprty zastávka  4    10 26   18 32   
   9 27   17 38   56 Vejprty koupaliště  2    10 23   18 28   
   9 30   17 42   58 Vejprty  0    10 19   18 24   
    Leipzig   Do stanice Ze stanice    Leipzig     
 jede v ,  a 25.IV. 
 
 

1 v  a  od 2.IV. do 2.X. a 25.IV.
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